1% Tl &

400Hz/50Hz =#B E A= $%/0

HEZXTESHEY T H

SJ/Z1758-81 A00H=#EEFR&OCHETESRMAETHE
SJ/Z1763-81 50H: =IBER OB IRTESEMETTHE

%, F T b AR R AL R L 4 B30

1981



H =

SJ/Z1758-81 400H: =4 E B OBETERAETY

R T = T U (1)
2. ERBEAHIH BRI E LA oot €3))
B - L LT PN (24)
T - B £ 5 - R T P 28)
S 3D

M 1| ZHE BRI R BB cooooreerrrrrrreererriinereieenan 31
M2 SR EERIAE. MBI F P errrrrrrrerrrineeneiiieeenin (34)
R T - PN (35)
o o = 1 P RN (39)
B 5 AOOHZ =AH E JEEELLS +oooeeeeereseerrsessiomnssisssnusesesssssesesssssrennnsnsanens (40)
1 N 41)

SJ/Z1763-81 50Hz =48 E ek OB IREEEARITE
1. %j:%%ﬁi—f*% ....................................................................................... (43)
2. @ﬁ%%%ﬁ‘%%ﬂ%[ﬁbbi‘%‘ﬁ— ..................................................................... (56)
B Y -l o (59)
R 4 1 o = IR R, (65)
T I T U (67)

R 1 SHEBSOEIFA R BB GE - orerrrorrrrerrrrerriener. (67)
Mtk 2 SAHEEIE A ERRBEHIE, BB E G B 70)
B 3 g&*]ﬂ%(]ﬁjs]/zlmg_glpﬁ%g, - T (35)
Mt 4 }%%RTJ‘ ................................................................................. an
B 5 BOHz ZAHE JBEELY sceerrrrererniiniiiiiiiiiii it (72>

PEE PR B (FIST/Z 1758-81 BIFFEUAMT, BE) e snsrensermnnnnnsesnnennnnannnnnnnnnnnnnessnsnnnsnnnnnnns D



ch4E A B350 E 58 L &% Tk 25
EBSMERAINHE SJ/Z1758-81

400Hz = E B OBRIRZEFMETE

b e} com o e

Z RIS T 400Hz MR IR RS MR RE, $1TT2%%, BT S 1264-
TTCEMBERH E B8.00(400Hz) 35 H- iy i JE 245 R 5%,

1. BXS¥HE
1.1 HETERHFRR
VAsa=VAug+VAsp+VAiga+VAsgss.
v, . U, .
I b Sl L b e
Y —o R Y T

B 1-1
B @ —ABERF, F—ERBAE LANFHERE A Th— KT RS b 7T 4 LA
@ Ijs Ins 130 R 28 SR bR e (L R ) M O o, T 00 4 30 B0 2 01 R 37

L Saf RS & SanRe

VApm=23U;1;.
1.1.2 =¥ ERFESHEANRE

VApp=32.73U,1,.
1.1.3 RR Y Wik, EFABREBSSEAHRR

—LN\—5-+A—BXK




